14. Professional responsibilities, attitudes and behaviours
Multiple choice questions (learner)

A job advert should have some documents attached to it to give clear information about the skills a successful candidate should show. What is this called?

a. Job entitlement
b. Job description
c. Postal address
d. Uniform requirements

Which of these would not appear in the document mentioned in question 1? 

e. The job title
f. Distance to local bus stop
g. Pay scale and benefits
h. Hours of work


Which of these is not described as a ‘soft’ skill?

i. Creativity
j. Ability to use CAD software
k. Leadership 
l. Ability to communicate with others


The behaviour that shows honesty, integrity, equality, respect and being law-abiding is known as what?

m. Escalating behaviour
n. Equal behaviour
o. Ethical behaviour
p. Everyday behaviour


If an employee has shown continuing poor behaviour in the workplace they may need to go through a disciplinary process. What is the last stage before potential dismissal?

q. Verbal warning
r. First formal interview
s. Final written warning
t. Factory tour







A company needs someone to work in their sheet metal fabrication department. Which of these skills would be relevant to the work? 

u. Problem solving
v. Understanding of health and safety 
w. Ability to use measuring equipment
x. All of the above


An employee has a child who is in hospital. What could the company reasonably do to help?

y. Give the employee time off to visit the child
z. Give the employee extra workload
aa. Fire the employee
ab. Send the employee away on a training course


Which of the following legislation sets out the nine protected characteristics? 

a. National Minimum Wage Act 1998 
b. Employment Act 2008 
c. Equality Act 2010
d. Health and Safety at Work Act 1974


CPD stands for continuous professional development. Which one of these options is not an example of CPD?

ac. Bank holiday
ad. Industry placement 
ae. Trade show
af. Academic study


Which of these is a negative aspect of giving employees CPD?

ag. Staff feel more valued and can be more motivated 
ah. Staff will feel more loyal and grateful 
ai. Staff are up to date on new technology 
aj. Training takes time and money


What is a seminar?

ak. A chapter in a manual
al. An event where different companies display their products
am. A week visiting another factory/office
an. A talk by an expert in the field with a Q&A session



Which of these choices is a positive characteristic of a human worker over a robot?  

ao. Unpredictability
ap. Boredom
aq. Innovation
ar. Payment


The study of the dimensions of human beings when they interact with their environment is called what?

as. Ergonomics
at. Ethics
au. Articulations
av. Anthropometrics


Promoting diversity in a company is considered to be which kind of objective?

aw. Financial objective 
ax. Social objective 
ay. Geographical objective
az. Quality objective 


Which of the following can a trade union help with? 

ba. Attending and supporting members during disciplinary meetings
bb. Discussing members’ concerns with employers 
bc. Negotiating pay and working conditions 
bd. All of the above 


A company is making PCBs on a manual production line. They want to move towards using more automatic machinery. What should the company do for their employees?

be. Sack all the current staff
bf. Make sure the new equipment is very loud
bg. Make sure full training is given 
bh. Invite all the staff to give a donation to the cost of the equipment


An employee sees another employee sleeping in the rest room. What should they do in the first instance?

bi. Tell their line manager
bj. Do that employee’s work as well as their own
bk. Tell the rest of the staff to come and look
bl. Ring the sleeper’s doctor
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An employee has too much work to do in their working week. What might their worrying about this cause?

bm. Stirring
bn. Stress
bo. Soldering
bp. Service

What would be the advantage to a company of allowing an employee spend a week on an industrial placement?

bq. The employee will learn new skills
br. The employee will be out of the company for a week
bs. The employee will ask for a pay rise
bt. The employee will take a job at the new placement


If an employee often makes mistakes in their work which of these actions would be reasonable for a company to take?

bu. Check that the employee is not stressed
bv. Check that the employee has sufficient training
bw. Check that the employee is not overworked
bx. All of the above
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